MATH 2 EXAM #1 NAME: arde

Please Note:

=

Use only one side of the provided blank papers. Do the problems in order. Use the same
guidelines as in your homework assignments, Show all your work to backup your
answers. Merely stating the answer of a problem results in no credit.

Solve each of the following equations:
x+1_ 3 3
x-2 x-2 x

~2[3-x+4=2

Rewrite the following expression without the absolute value: |3x - 1|

Solve each of the following inequalities, show the solution set on a number line and represent the
solution set using the interval notation.

a. —-5<3-2x<0 b. 2x-5<3x+1<4x+2

c. -2[3-2x+4<-2 d. 2x+2|z-2
|2-x|<0 f. |x+1>-1

g. x'—2x<8 2x* (x+1)

77 <9
(-1 (+-2)

The following points are given: A(2,-3) and B(0,2)
Find the length of the line segment AB .
Find the midpoint of 4B . '

Find the equation of a circle if the line segment AB is one of its diameters.
Find the equation of a line passing through points 4 and B.

el S

Find the center, radius and sketch the graph of the following circle: 2x*+2)” +8x+7=0

Using the following graph, N 0
a. state if it is a function. '

b. find the domain. = >
¢. find the range. . \

Sketch the graph of the following functions using the transformation concept that was presented in
the lecture. Number each transformation and briefly state what each transformation is doing.

a. -y—:\/x—l b. y=2x+1
€. y=—-X d. y=—2|x—l]+3

(EXTRA CREDIT) Sketch the graph of/y%},@ 4= L[]
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